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Question Id : 9209067083 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra’'s MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJPs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena's constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key player in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Rebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other critical actor in defection is the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC's stance is very clear. The
rajyvapals should take note.

Sub questions

Question Number : 1 Question Id : 9209067084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The word meddle refers to:

(1) Mediator, who brings about an agreement.
(2) Medial, that is situated in middle.
(3) One who interferes that is not one’s concern.

(4) Meek, one whao is gentle.

Options :

92090628001. 1
92090628002. 2
92090628003. 3
92090628004. 4

Question Number : 2 Question Id : 9209067085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090628005. 1
92090628006. 2
92090628007. 3
92090628008. 4

Question Number : 3 Question Id : 9209067086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements read the following statements:

Statement [ : A floor test is not the platform to resolve interparty dispute.

Statement 11 : The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I1 are incorrect

(3 Statement [ is true but Statement I1 is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090628009. 1
92090628010. 2
92090628011. 3
92090628012. 4

Question Number : 4 Question Id : 9209067087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090628013. 1
92090628014. 2
92090628015. 3
92090628016. 4



Question Number : 5 Question Id : 9209067088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B} relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(DD based on such reasoning which were denying the truth by asserting the opposite.

(1) (A), (B)
(2) (B), (C)
(3) (A), (C)
(4) (B). (D)

Options :

92090628017. 1
92090628018. 2
92090628019. 3
92090628020. 4

Question Id : 9209067083 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra's MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJFs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena’s constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key playver in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Hebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other ecritical actor in defection i1s the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC’'s stance is very clear. The
rajyapals should take note.

Sub questions

Question Number : 1 Question Id : 9209067084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word meddle refers to:

(1)

Mediator, who brings about an agreement.

(2) Medial, that is situated in middle.
(3) One who interferes that is not one's concern.
(4) Meek, one who is gentle.

Options :

92090628001. 1
92090628002. 2



92090628003. 3
92090628004. 4

Question Number : 2 Question Id : 9209067085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090628005. 1
92090628006. 2
92090628007. 3
92090628008. 4

Question Number : 3 Question Id : 9209067086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements read the following statements:

Statement I : A floor test is not the platform to resolve interparty dispute.

Statement 11 :  The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement [ is true but Statement Il is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090628009. 1
92090628010. 2
92090628011. 3
92090628012. 4

Question Number : 4 Question Id : 9209067087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090628013. 1
92090628014. 2
92090628015. 3
92090628016. 4

Question Number : 5 Question Id : 9209067088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B) relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(D) based on such reasoning which were denying the truth by asserting the opposite.

(1) (A). (B)
(2) (B). (C)
(3) (A). (C)
(4) (B), (D)

Options :

92090628017. 1
92090628018. 2
92090628019. 3
92090628020. 4

Sub-Section Number : 2
Sub-Section Id : 920906226
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209067089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Your behavior is not cricket means you have not behaved

(1) in intelligent manner
(2) in an honourble way

(3 As a dark horse

(4) 1n 4 couragious manner.
Options :

92090628021. 1

92090628022. 2

92090628023. 3

92090628024. 4

Question Number : 6 Question Id : 9209067089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Your behavior is not ericket means you have not behaved

(1) in intelligent manner

(2) in an honourble way

(3) As a dark horse

(4) in & couragious manner.
Options :

92090628021. 1
92090628022. 2
92090628023. 3
92090628024. 4

Question Number : 7 Question Id : 9209067090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT" 1s:

(1 Grant
(2)  Agree
(3) Permit
i(4) Accept
Options :

92090628025. 1
92090628026. 2
92090628027. 3
92090628028. 4

Question Number : 7 Question Id : 9209067090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT” is:

(1) Grant
(2) Agree
(3 Permit
i(4) Accept
Options :

92090628025. 1
92090628026. 2
92090628027. 3



92090628028. 4

Question Number : 8 Question Id : 9209067091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE” is:

1) Donation
2) Support

(
(
(3 Espionage
(4) Beneficiary
Options :
92090628029. 1
92090628030. 2
92090628031. 3

92090628032. 4

Question Number : 8 Question Id : 9209067091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE" is:

1) Donation

(

(2) Support
(3) Espionage
(

4) Beneficiary
Options :
92090628029. 1
92090628030. 2

92090628031. 3
92090628032. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.
{2) A majority of students believe that the examinations have been necessary.
(3) A majority of students helieve that the examinations are being necessary.
(4) No improvement.

Options :

92090628033. 1
92090628034. 2
92090628035. 3
92090628036. 4

Question Number : 9 Question Id : 9209067092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.
(2) A majority of students believe that the examinations have been necessary.
(3) A majority of students believe that the examinations are being necessary.
(4) No improvement.

Options :

92090628033. 1
92090628034. 2
92090628035. 3
92090628036. 4

Question Number : 10 Question Id : 9209067093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1 Wheel lock (2)  Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090628037. 1



92090628038. 2
92090628039. 3
92090628040. 4

Question Number : 10 Question Id : 9209067093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1) Wheel lock (2) Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090628037. 1
92090628038. 2
92090628039. 3
92090628040. 4

Question Number : 11 Question Id : 9209067094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money invested on simple intrest at 15% per annual fetched Hs 10,350 as
intrest in 3 yvears find the sum invested

(1) Rs.22800
(2) Rs.23000
(3) Rs.24000
(4) Rs.24500

Options :

92090628041. 1
92090628042. 2
92090628043. 3
92090628044. 4

Question Number : 11 Question Id : 9209067094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A certain sum of money invested on simple intrest at 15% per annual fetched Rs.10,350 as
intrest in 3 vears find the sum invested

1) Rs.22800

2) R=.23000

3 Rs.24000

1) Rs.24500

o

(
(
(
(

Options :

92090628041. 1
92090628042. 2
92090628043. 3
92090628044. 4

Question Number : 12 Question Id : 9209067095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
B0cm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much vthe water level increases?

(1) 25em
(2Z) 22 Hem
(3) 22em
(d) 21 8cm

Options :

92090628045. 1
92090628046. 2
92090628047. 3
92090628048. 4

Question Number : 12 Question Id : 9209067095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
BOcm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much ythe water level increases?

(1) 25cm
(2Z) 22 Hem
(3) 22em
(4) 21 8cm

Options :

92090628045. 1
92090628046. 2
92090628047. 3
92090628048. 4

Question Number : 13 Question Id : 9209067096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs. 42000. After 2 month Reena joined her by
investing Hs. 35000. Profit at the end of 10 month was Rs.315% Heena's share in the profit
(in Rs.) is;

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090628049. 1
92090628050. 2
92090628051. 3
92090628052. 4

Question Number : 13 Question Id : 9209067096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs, 42000. After 2 month Reena joined her by
investing Rs. 35000. Profit at the end of 10 month was Rs.315% Reena's share in the profit
(in Bs.) is:

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090628049. 1



92090628050. 2
92090628051. 3
92090628052. 4

Question Number : 14 Question Id : 9209067097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 1024724243 = x2+5

(1) 21 (2)
(3) 23 (4)

]
b2

[ ]
T

Options :

92090628053. 1
92090628054. 2
92090628055. 3
92090628056. 4

Question Number : 14 Question Id : 9209067097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 1024+74243° = x24+5

(1) 21 (2)

2
(3) 23 (4) 2

frd

Options :

92090628053. 1
92090628054. 2
92090628055. 3
92090628056. 4

Question Number : 15 Question Id : 9209067098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

day and walk with speed 1% times of the previous speed then in how many days will he

cover 540km?

(1) 39 2y 33
(3) 35 (4) 37

Options :

92090628057.
92090628058.
92090628059.
92090628060.

N O R O R

Question Number : 15 Question Id : 9209067098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

day and walk with speed 'I% times of the previous speed then in how many days will he

cover 840km?

(1) 39 2y 33
(3) 35 (4) 37

Options :

92090628057.
92090628058.
92090628059.
92090628060.

N O R S R

Question Number : 16 Question Id : 9209067099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Ravi?

(1) Grandfather
(2) Father

(3 Uncle

(

4) Brother- in- low

Options :



92090628061. 1
92090628062. 2
92090628063. 3
92090628064. 4

Question Number : 16 Question Id : 9209067099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Havi?

(1) Grandfather
(2) Father
(3 Uncle

(

4) Brother- in- low

Options :

92090628061. 1
92090628062. 2
92090628063. 3
92090628064. 4

Question Number : 17 Question Id : 9209067100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090628065. 1
92090628066. 2
92090628067. 3
92090628068. 4
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How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090628065. 1
92090628066. 2
92090628067. 3
92090628068. 4

Question Number : 18 Question Id : 9209067101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(Z) 487
(3) 471
(4) 474
Options :

92090628069. 1



92090628070. 2
92090628071. 3
92090628072. 4

Question Number : 18 Question Id : 9209067101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(2) 487
(3) 471
(4) 474

Options :

92090628069. 1
92090628070. 2
92090628071. 3
92090628072. 4

Question Number : 19 Question Id : 9209067102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Answer the following question by studying the statement and assumptions.
Statemenent: - 1t is desirable to put the child in school at the age of 5 or 50.

Agsumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[I. The schools do not admit children after six years of age.

(1) Only assumption I iz implicit.
(2 Only assumption Il is implicit.
(3 Either I or 11 is implicit.

(4) MNeither | or I is implicit.

Options :

92090628073. 1
92090628074. 2
92090628075. 3
92090628076. 4



Question Number : 19 Question Id : 9209067102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Answer the following question by studying the statement and assumptions.
Statemenent: - It is desirable to put the child in school at the age of 5 or 50.

Assumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[1. The schools do not admit children after six yvears of age.
(1) Only assumption I iz implicit.
(2) Only assumption 1 is implicit.
(3) Either I or Il is implicit.
4 Meither I or 11 is implicit.

Options :

92090628073. 1
92090628074. 2
92090628075. 3
92090628076. 4

Question Number : 20 Question Id : 9209067103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
wialks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090628077. 1
92090628078. 2
92090628079. 3
92090628080. 4

Question Number : 20 Question Id : 9209067103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
wialks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090628077. 1
92090628078. 2
92090628079. 3
92090628080. 4

Question Number : 21 Question Id : 9209067104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List I List I1
Term Deal with
{A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (III) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(IV), (C)-(1), (D)-(I1I)
(2) (A)-(IID), (B)-AV), (C)-(I), (D)-(1I)
( )-
( )-

i

3) (A)-(IV), (B)-(I1), (C)-(1), (D)-(I1I)
4) (A)-(1I), (B)-(IV), (C)-(I1T), (D)-(I)

Options :

92090628081. 1
92090628082. 2
92090628083. 3
92090628084. 4

Question Number : 21 Question Id : 9209067104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List II
Term Deal with
(A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (IIT) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(IV), (C)-(1), (D)-(I1L)
(2 (A4)-(IID), (B)-(IV), (C)-(I), (D)-(1T)
(3 (A)-(IV). (B)-(ID), (C)-(I). (D)-(I1T)
(4) (A)-(1I), (B)-(IV), (C)-(I1I), (D)-(T)

Tt

Options :

92090628081. 1
92090628082. 2
92090628083. 3
92090628084. 4

Question Number : 22 Question Id : 9209067105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4) Propane and Ethane

Options :

92090628085. 1
92090628086. 2
92090628087. 3
92090628088. 4

Question Number : 22 Question Id : 9209067105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4) Propane and Ethane

Options :

92090628085. 1
92090628086. 2
92090628087. 3
92090628088. 4

Question Number : 23 Question Id : 9209067106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space iz Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1) (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090628089. 1
92090628090. 2
92090628091. 3
92090628092. 4

Question Number : 23 Question Id : 9209067106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space iz Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1)  (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090628089. 1
92090628090. 2
92090628091. 3
92090628092. 4

Question Number : 24 Question Id : 9209067107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090628093. 1
92090628094. 2
92090628095. 3
92090628096. 4

Question Number : 24 Question Id : 9209067107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090628093. 1
92090628094. 2
92090628095. 3
92090628096. 4

Question Number : 25 Question Id : 9209067108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article S1-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [1 are correct

(2) Both Statement I and Statement Il are incorrect

(3 Statement [ is true but Statement 11 iz incorrect

(4) Statement [ is false but Statement I1 is correct
Options :

92090628097. 1
92090628098. 2
92090628099. 3
92090628100. 4



Question Number : 25 Question Id : 9209067108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article 51-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [ are correct
(2) Both Statement I and Statement I are incorrect
(3 Statement [ is true but Statement 11 is incorrect
(4) Statement [ is false but Statement II is correct

Options :

92090628097. 1
92090628098. 2
92090628099. 3
92090628100. 4

Part B: MPT

Section Id : 920906142
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear

Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 920906227
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209067109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The immediate vascular response during acute inflammation is

1. progressive vasodilatation of arterioles

2. Transient Vasoconstriction of arterioles
3.  Slowing of microcirculation
4. Leucocytic margination

Options :

92090628101. 1
92090628102. 2
92090628103. 3
92090628104. 4

Question Number : 26 Question Id : 9209067109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRge gy § g areft arapTfere Hag-t-ufaftrar g1

(1) ynfee &1 urmd ffesr 2) yAfASIe] 1 dftre dHivH
(3)  GeAuRE=Ror $1 4 g @) SaeRrsis &1 afEE
Options :

92090628101. 1
92090628102. 2
92090628103. 3
92090628104. 4

Question Number : 27 Question Id : 9209067110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is true about the ‘angle of torsion’ of humerus?

A. It is the angle formed between the longitudinal axis of the shaft of
thehumerus and the axis through humeral head.

B. Itis the angle formed between the axis through humeral head and an axis
through humeral condyles.

C. ltis an angle formed in the transverse plane.
D. ltis an angle formed in the frontal plane.
E. Normal range of angle of torsion is 130°-150°.
Choose the correct answer from the options given below :
1. Aonly
2. BandC only
3. AandE only
4.

E only

Options :

92090628105. 1
92090628106. 2
92090628107. 3
92090628108. 4

Question Number : 27 Question Id : 9209067110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIfTgehT & I & ST & Jaiy H 31 9t 82

A. uﬁﬁ%mmﬁaaﬂawﬁqfﬁaaﬁawahmﬁmsﬂﬁﬁmgqawﬁwﬁaﬁ
1 2

B. ugaﬂ;mﬁsaﬂnﬂﬁﬁmgqa&fmmﬁamaﬁm%gaﬁa e & i d
g1 2|

C. U &0 R dd H g g |

D. Tg & thed ad H Eai g

E. S 9HRI HHE 130° — 150° 8idl gl

13 feu o fawedt A 9 a8 Iugdd IR &1 904 Biforg ;

(1) &dd A

(2) &dd B3RC

(3) &ad ASMRE

4) &ddE
Options :

92090628105. 1
92090628106. 2
92090628107. 3
92090628108. 4

Question Number : 28 Question Id : 9209067111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A form of coordinated and internally programmed cell death which is of
significance in a variety of physiological and pathological conditions:

1. Apoptosis

2. Neurosis

3. Gangrene

4.  Autolysis
Options :

92090628109. 1
92090628110. 2
92090628111. 3
92090628112. 4



Question Number : 28 Question Id : 9209067111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T-afdd td offaRe ©u J gEiford SRS $1 U6 ISR ¢, o & fafim
sRfraneit vd fagsfadl & neaygi 81

(1) TP 2) Hdbey
(3) @Y @) WEaga
Options :

92090628109. 1
92090628110. 2
92090628111. 3
92090628112. 4

Question Number : 29 Question Id : 9209067112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sports/competition wheelchairs must have the following characteristics :
A. Wide wheel camber
B. Light-weight frame
C. Rigid construction
D. High seats
E. High backrests
Choose the correct answer from the options given below :

1. Aand E only

2. A BandConly

3. B,CandEonly

4. DandE only
Options :

92090628113. 1
92090628114. 2
92090628115. 3
92090628116. 4



Question Number : 29 Question Id : 9209067112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wafl/ufcfirdrsit wge e & fafafad fadward 8-t =rfeu :
e & R

DI gl

fRR Fxem

Ft e

E. $d S

- fag T faspedl # @ Hel IR &1 994 SHifeig

(1) &dd A3MRE
(2) &9d A B3HRC
(3) &dd B, C 3ARE
4) &dd DSRE
Options :
92090628113 1
92090628114 2

92090628115. 3
92090628116. 4

>

o N =

Question Number : 30 Question Id : 9209067113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Medial meniscus is torn more frequently than the lateral
meniscus.
Reason (R) : Medial meniscus of the knee joint is more firmly attached to

medial collateral ligament and semimembranosus muscle.

In the light of the above statements, choose the correct answer from the
options given below :

—

Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A)and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is truebut (R) is false
4

(A) is false but (R) is true

Options :

92090628117. 1
92090628118. 2
92090628119. 3
92090628120. 4

Question Number : 30 Question Id : 9209067113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 € $uA 3T MU §: 0P UFYA (Assertion &) B FU  H ff@d § o R1 ITS FRUI
(Reason R}a?'{“_'-'l ﬁ;

iy A . devd A sy $t ganr 1 Hifsga afea 39 faefa &t emaftr sifte 2

HRUIR : ged & Siig &1 Hifsga Afew Hifgga siaewa frme ok Ity
usft ¥ geg U A IS Sl

SRIF HYF & el 7, 11 fau 7 faFwed! & 8§ 9a Iugad I &1 994 Fiforw

(1) ASIRRIA TEl § 3R R A B UL RN §

2) AR REH TE E AfFTR AT TS TN TS ©

B3) ATHE APTREE T

(4) ARITEIE APTRUG T

Options :
92090628117. 1
92090628118. 2



92090628119. 3
92090628120. 4

Question Number : 31 Question Id : 9209067114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement—| : Spinal traction may move joint sufficiently to stimulate the
mechanoreceptors, thus, decreasing joint-related pain.

Statement—Il : Lumbar traction can decrease the size of herniated disc
material.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement |l is true

Options :

92090628121. 1
92090628122. 2
92090628123. 3
92090628124. 4

Question Number : 31 Question Id : 9209067114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERAAIC TR |

YT | WA ¢RH JiRETRd B IR F F R g #t vafe aen & Rar ar @
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HY 11: TR e giites fewd uerd & SeR &1 gel 3t g
FURIG U & 3ffatd |, 1 fau 7u fadead! & 9 wdl 3w &1 994 Fifo

(1) ST RS T ®
(2)  HYTI 3R 1 EH ET
(3) HYTIHA A Y 11 s g
(4) HYF | IEA g, AP HY 11 IA §

Options :

92090628121. 1
92090628122. 2
92090628123. 3
92090628124. 4

Question Number : 32 Question Id : 9209067115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The risk of rupture of the vertebral disk fibers is maximum with

1. heavy axial compression and bending forward

2.  heavy axial distraction and bending forward

3. heavy axial distraction, torsion and bending forward

4. heavy axial compression, torsion and bending forward
Options :

92090628125. 1
92090628126. 2
92090628127. 3
92090628128. 4

Question Number : 32 Question Id : 9209067115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HUSH-[S%H & {1 1 BT Sifad & Ty Y 31t g g
(1) faere sieffa ddts ok am g
(2 fagra sty fEawm SR ol gea
3) fawme saftg feedeamm, e oik o g
(4) e saftg ddits, efe oiik 3 g
Options :
92090628125. 1
92090628126. 2

92090628127. 3
92090628128. 4

Question Number : 33 Question Id : 9209067116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Breast milk is associated with several advantages. These are:
lower risk of infection
protects from allergy
low cost of feeding

has higher protein content than cow's milk

m o O @ p

lower content of polyunsaturated fatty acids (PUFA)
Choose the correct answer from the options given below :
1.  AandE only

2 A, E and D only

3. A,DandEonly
4

A, B and C only

Options :

92090628129. 1
92090628130. 2
92090628131. 3
92090628132. 4

Question Number : 33 Question Id : 9209067116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
TUF Fagd aH eI ]
A, HHU &I SIREH HH g1
B. Wgoldl 4 & S
C. HH MBI YN
D. T F gy feb Wl g

E. §g-3Jtd a1 ofd &1 HH gl
= fau v fasw el 7 9 gl Iuge IR &1 99 DI ;

(1) &dd A3RE

(2) &dd A E 3R D

(3) dd A, D3RE

(4) &Had A, B3R C
Options :

92090628129. 1
92090628130. 2
92090628131. 3
92090628132. 4

Question Number : 34 Question Id : 9209067117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement—| : Muscle reaction time training or proprioceptive training after
an acute ankle sprain will not determine the development of
chronic ankle instability.

Statement—Il :  Chronic ankle instabilty can be both functional or
mechanical in nature.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement |l are true
Both Statement | and Statement |l are false

Statement | is true but Statement |l is false

g R B3

Statement | is false but Statement |l is true



Options :

92090628133. 1
92090628134. 2
92090628135. 3
92090628136. 4

Question Number : 34 Question Id : 9209067117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628133. 1
92090628134. 2
92090628135. 3
92090628136. 4

Question Number : 35 Question Id : 9209067118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following sequence of instructions must be given to the patient for teaching
him to wear his trans-tibial prosthesis :

A. Place amputed limb in the socket
Remove the wedge
Apply the liner

Place wedge between socket and medial condyle

m o o m

Insert the limb
Choose the correct answer from the options given below :

1. A,C,B,D,E
2. B ADCE
3 AGCBED
4. ABC,DE

Options :

92090628137. 1

92090628138. 2

92090628139. 3
92090628140. 4

Question Number : 35 Question Id : 9209067118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) ACBDE
(2 B.ADCE
(3 ACBED
4 ABCDE

L

Options :

92090628137. 1
92090628138. 2
92090628139. 3
92090628140. 4

Question Number : 36 Question Id : 9209067119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Basic principle of strengthening exercise include

1.  Accuracy
2. Hypertrophy
3. Perception
4.  Specificity

Options :

92090628141. 1

92090628142. 2

92090628143. 3
92090628144. 4

Question Number : 36 Question Id : 9209067119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

wyfi srany & e figia A gefed g

(1) afigsdl @ Usft-sffagfs
(3) (4) faRmar
Options :

92090628141. 1
92090628142. 2
92090628143. 3
92090628144. 4

Question Number : 37 Question Id : 9209067120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person is standing on the platform. With anterior movement of the platform,
there is activation of the ankle synergy, which consists of:

1. activation of dorsiflexors, hip flexors, abdominals and neck flexors

2. activation of plantar flexors, dorsiflexors, abdominals and hip
extensors

3. activation of plantar flexors, hip extensors, back and neck extensors
4.  activation ofhip flexors, plantar flexors and neck flexors

Options :

92090628145. 1
92090628146. 2
92090628147. 3
92090628148. 4

Question Number : 37 Question Id : 9209067120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UF Afdd WehH R T3l 81 THHH $ o fAusd ¥ Uea Tt &1 afeau g gl
tpaEgAeliH__ giadl

(1)
(2
(
(

S

S, R0 weiead, sregified Ud ¢ & waiawd &1 wigaul
wieYueay, Sty sfesifie vd 7y vaaday &1 wfbau

3)  ievgdand, fRu waend, die iR da ¥ vandd &1 ufesaun
4) R e wicvudasy ok ¢ F waiaed &1 o
Options :

92090628145. 1
92090628146. 2
92090628147. 3
92090628148. 4

Question Number : 38 Question Id : 9209067121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A person is sitting in high sitting position. The joint reaction force of the
tibiofemoral joint will increase in the following order:

A.

m o O W

Knee at 0° of flexion with 5 kgs weight at the ankle joint
Knee at 60° of flexion with no weight at the ankle joint
Knee at 0° of flexion with 5 kgs weight near tibial tuberosity
Knee at 90° of flexion with 5 kgs weight at the ankle joint

Knee at 90° of flexion with no weight at ankle joint.

Choose the correct answer from the options given below :

1. BECRA
2. EDCBA
3. EDBCA
4. D,E,BAC

Options :

92090628149. 1
92090628150. 2
92090628151. 3
92090628152. 4

Question Number : 38 Question Id : 9209067121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

US eafad grs-fufen & siawn # 931 g1 fefamt-fieratva oie R 81 arat ufafsear 9a &1 sgan
BN PHITUUPR E -

A, el 0° FAaRE IR SR 2@ & I8 W 5 kg BT UR|
B. el 60° T W SR €@ & Wig W SIS YR -Tel|
C. el 0° TR W 3R fefaaa sif@mies & &y 5 kg &1 UR|
D. HeAl 90° TaidRF R 3R 28 & I8 W 5 kg $T UR|
E. el 90° TideH | 3R €@ & WIg W $is YR el

4 fou e faedl A 8 98l IR &1 994 Sifve
(1) DLE C.BA
(2) EEDCBHBA
(3) E DB CA

4) DEBAC

Options :

92090628149. 1
92090628150. 2
92090628151. 3
92090628152. 4

Question Number : 39 Question Id : 9209067122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : The anterior glide of the ankle mortice will lead to increase in

plantarflexion.

Statement—Il :  The roll and glideoccurs in the opposite direction when a

In the
options

1.

s
3
4

concave articular surface moves on a convex articular
surface.

light of the above statements, choose the correct answer from the
given below :

Both Statement | and Statement |l are true
Both Statement | and Statement Il are false
Statement | is true but Statement Il is false

Statement | is false but Statement |l is true

Options :

92090628153. 1
92090628154. 2
92090628155. 3
92090628156. 4

Question
Question

Number : 39 Question Id : 9209067122 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sk
HY |
HY |

P feu Mg &:
. U AieY @) TR 7a1ge 37 § wicwdaH ® g arfti

. Od U 3fddd MfEpeR Jdg U Iad AeHeR Gag W fauswd ¢, 9@ Jd iR
g s faudia feen d € €

JURIE HYH & 3l #, I fou 7 feadl & I 9ad Iuga IR &1 9494 Siforw

(1)
(2)
(3)
(4)

Options :

YT I AR uEH gT 8
HYA | R 11 ST T §
HUT | T €, b HYF 1| 3 &
FYT 1 T g, AP HyT 1 aa e

92090628153. 1
92090628154. 2
92090628155. 3
92090628156. 4



Question Number : 40 Question Id : 9209067123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An ideal cool down during cardiac rehabilitation should incorporate the following
type of exercise/movements :

1.  Active stretching exercises with intermittent isometric exercises

2. Movements of diminishing intensity and passive stretching of major
muscle groups

3. Exercise around lactate threshold

4.  Sustained isometric hold of major muscle groups

Options :

92090628157. 1
92090628158. 2
92090628159. 3
92090628160. 4

Question Number : 40 Question Id : 9209067123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FMEUP Yafg & R Ua ey pasa- # Ay ueR & ammaffaf & aftfa
H1 9lfgul

(1)  afcsaarard @i somam & Ty siaufie ity somam)

(2) digard ged gu s Ud wiE oei-wigl it Afesaanardt i
(3) dace dNgies & gH S|

(4) U@ UL-Wgl &1 Hod YHAC HHT |

e

Options :

92090628157. 1
92090628158. 2
92090628159. 3
92090628160. 4

Question Number : 41 Question Id : 9209067124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement—I| :  Friction massage comprises of application of stretch forces
across fascial planes.

Statement—Il :  Myofascial massage comprises of application of deep
circular massage to break up adhesions.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

92090628161. 1
92090628162. 2
92090628163. 3
92090628164. 4

Question Number : 41 Question Id : 9209067124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R s Rrm e

HY | - e mare o yraroliy aadl & €9 B &1 3udn it 2

&Y 11 - Yh-wravofty wa 7 sl @Y dreR & fore S ader wars &1 Iudi wita 21
JURI HUH & aireite |, - feu U el § 9 w8l I &1 9g- Sifern

(1) SUF 1RSI 9d e
2) BT SRnSH Ed g
(3) @YU | E g, Sfthe SYA 1 S §
(4)  HYTIHTY g, A FYFT 11 T &
Options :
92090628161. 1
92090628162. 2

92090628163. 3
92090628164. 4



Question Number : 42 Question Id : 9209067125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concave articular surface of glenchumeral joint called (a) is
deepened by (b) ;

1. (a)glenoid fossa, (b) glenoid labrum
2.  (a) glenoid labrum, (b) glenoid fossa
3.  (a) scapular fossa, (b) glenoid cavity
4.

(a) humeral fossa, (b) scapular labrum

Options :

92090628165. 1
92090628166. 2
92090628167. 3
92090628168. 4

Question Number : 42 Question Id : 9209067125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS &1 Addd HTT (a) Hedrd g, ol & (b) F1 guig ¥ 3R
T Bl STl &
(1) (a) TS B (b) feFTeS o
2) (a) TS Wsm (b) TS Wi
3) (a) WYR BRI (b) Rres HRd
(4)  (a) EARE BT (b) THYTR AsH

L}

Options :

92090628165. 1
92090628166. 2
92090628167. 3
92090628168. 4

Question Number : 43 Question Id : 9209067126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement—| : For treatment of a patient with burns, physiotherapy should
be deferred untili the patient becomes receptive for
treatment.

Statement—Il :  For treatment of a patient with burns, physiotherapy is

directed toward prevention of scars and contracture.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4

Statement | is false but Statement Il is true

Options :

92090628169. 1
92090628170. 2
92090628171. 3
92090628172. 4

Question Number : 43 Question Id : 9209067126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gl ey Ruu &
HYT1 - 94 & W F IuER # It & IR & forg yeueita g a@ wifas-Rfeen e &

S =Rt

HY 11 74 F A F Iu=R A Dfasfafea gultg-dee & gu9d $1 R Ffdy 8@t 2
SR HYT & Aol |, -1 feu 7 fAeedi § 9 98 3T &1 994 Siforw

(1)
(2)
(3)
(4)

HYF | R 1 SH T 8

HY 1 3R 11 SF A §

HYF | T ¢, b Y 1l 3T &
B | 3T §, A HYH 11 TA §

Options :

92090628169. 1
92090628170. 2
92090628171. 3



92090628172. 4

Question Number : 44 Question Id : 9209067127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Snapping hip is a condition most commonly seen in

1. footballers

2. cricketers

3. kabaddi players

4.  ballet dancers
Options :

92090628173. 1
92090628174. 2
92090628175. 3
92090628176. 4

Question Number : 44 Question Id : 9209067127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&t iR &t e I o 3Et S 21

(1) Peare @ fEred
3) dasl & f@afed (4) oW Tdd!
Options :

92090628173. 1
92090628174. 2
92090628175. 3
92090628176. 4

Question Number : 45 Question Id : 9209067128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Diabetic athletes involved in endurance events who are
loading carbohydrates prior to competition should not
change their insulin dosage.

Reason (R) : Diabetic athletes need to leamn the effects of different types
of exercise on their blood glucose levels.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090628177. 1
92090628178. 2
92090628179. 3
92090628180. 4

Question Number : 45 Question Id : 9209067128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 41 &Y foU U & U UBYA (Assertion A) & ®U T faf@d € dl g8U 39S SR
(Reason R}%Fﬂ' ﬁ;

By A : TSHY Fd<d H U @1 dd sHafes sl o 6 ufedifar @ od
FrElIgSe dd € B AT THfom Ft AE S 7L sea- T

FRIR: srrafes sl 1 fafim usR F o J €1 919 I9F IR & bl
TR IR IHTE HI &1 T HTL0Hd

SWRIF HYF & el #, 11 fau 70 faewedl & 8 9a Iuga I &1 994 DHifere

(1) ASMRRSH Tel g 3R R A P Ugl aaraT 8
2) AR REH HEl € dfdh r, A B HE AmEmn Ad €
3) ATElE dfb R TG TR B
4) AT RS AfFTR UG B
Options :

92090628177. 1
92090628178. 2



92090628179. 3
92090628180. 4

Question Number : 46 Question Id : 9209067129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Physiotherapeutic evaluation of lymphatic disorders include all, except
1. girth measurement
2.  volumetric measurement
3. palpation of the involved limb
4

muscular strength

Options :

92090628181. 1
92090628182. 2
92090628183. 3
92090628184. 4

Question Number : 46 Question Id : 9209067129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

adter-deeft faerl o & fyarg wiit Hifasfafdaeta gegiea &1 U €
(1) of¥fer &1 amg (2) Tgd &1 HY

3)  uuifdd st &1 wel-udtan 4) Uity arepd

Options :

92090628181. 1
92090628182. 2
92090628183. 3
92090628184. 4

Question Number : 47 Question Id : 9209067130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Slalement=—l . A reseaich study involving finding oul the number of
caesarean section deliveries after a particular intervention
would use a post-test only control group design.

Statement—Il : A research study in which each subject receives more than
one actual treatment would use a pretest-postest control
group design.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

. Both Statement | and Statement |l are false
3. Statement | is true but Statement 1l is false
4

Statement | is false but Statement Il is true

Options :

92090628185. 1
92090628186. 2
92090628187. 3
92090628188. 4

Question Number : 47 Question Id : 9209067130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty Ry U €

Y| - U A9 IUIR & 91¢ U UHd] I HE& &l UIed F & fore sfemgq | FHad
URec® dheld Ju ifideq &1 wi faar smem)

HYF 11 YOG DI UF T 3 aRafds JUER & drd g # Hiee-UReew deia g4
Hfimer &1 g fear s

SR Y & 3Tl #, T fou 70 fawedl & 8 9ad Iugad Ik &1 999 DHifere

(1) FYTIARnSH IT @

2) HYTIHRNSH FT

3)  HYT 1T g, AP FUH 11 3 8
(4) HUTINTA g, A FYA 11 T 8

Options :

92090628185. 1
92090628186. 2
92090628187. 3



92090628188. 4

Question Number : 48 Question Id : 9209067131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most important aspect of physiotherapy care is,

1.  achieving profits

2.  patient treatment and achieving goals

3. personnel management

4. personal growth of physiotherapist
Options :

92090628189. 1
92090628190. 2
92090628191. 3
92090628192. 4

Question Number : 48 Question Id : 9209067131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_ ffosfafeen Savd &1 ved eyl ugd B
(1) @ sifofd S 2) Ift BT IUIR AR T&T U HAI
3) HHI ydyd @) fFfeas o1 9afdes G

Options :

92090628189. 1
92090628190. 2
92090628191. 3
92090628192. 4

Question Number : 49 Question Id : 9209067132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List—II :

List—I List—I1
(A) | Empty can test (I} | Rotator cuff tear
(B) | Drop arm test (11} | Shoulder instability
(C) | Load and shift test (1ll) | Isolation of supraspinatus muscle
(D) | Adson'’s test (IV) | Thoracic outlet syndrome

Choose the correct answer from the options given below :

1. (AHIV); (B)(1): (C)=(ll); (D)=(I)

2. (A)(I); (B)(I): (C)-(IV); (D)~(1)
3. (A B)(1): (C)HIV): (D)=(11)
4. (A)=(IIN; B)=(1); (C)=(11); (D)-(IV)
Options :

92090628193. 1
92090628194. 2
92090628195. 3
92090628196. 4

Question Number : 49 Question Id : 9209067132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1y g 1 & e Sifon

Tl =t -
(A) THFITE ) AR FF B gel
(8) g AH T ay HY B ARRA
€ s s R e iy GURUIEACY ULl &1 gYP HAl
(D) USHACE av) dRf® sgede Rigm
-1 fau T fasedl & § el IR &1 99 S

(1) (A)-(IV), (B)-(1), (C)-(liT), (D)-(IN)
(2) (A)-(l), (B)-(1, (C)-(1V), (D)-(1)
(3) (A)-(I1), (B)-(1), (C)-(1V), (D)-(l)

)
)
)
(4) (A)-(In), (B)-(1), (C)-(l), (D)-(1V)



Options :

92090628193. 1
92090628194. 2
92090628195. 3
92090628196. 4

Question Number : 50 Question Id : 9209067133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. ; : z 1 1 :
An articular marginal fracture involving the dorsal 3 or volar 3 articular

surface of the lower radius with subluxation or dislocation of the carpus:
1. Colles’ fracture
2. Barton’s fracture
3. Smith's fracture

4.  Essex-Lopresti fracture

Options :

92090628197. 1
92090628198. 2
92090628199. 3
92090628200. 4

Question Number : 50 Question Id : 9209067133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H Yeua & Fed um & snfEper gde & erfa 173 @1 afer 1/3 & T ThaeR

& 1Y 1YY FT Yearawwr 11 f3welis e giar g

(1) el haeR 2) T haR

3) o e (4) SUTE-ATURT ThaeR
Options :

92090628197. 1
92090628198. 2
92090628199. 3
92090628200. 4



Question Number : 51 Question Id : 9209067134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The terminal part of spinal cord and dural sac end at and
respectively.

1. L1581

2. L2,82

3. L3,S83

4. L4, 54
Options :

92090628201. 1
92090628202. 2
92090628203. 3
92090628204. 4

Question Number : 51 Question Id : 9209067134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B3] R SIXd A6 F Sifad Wi 3R R HHL: THI dId 3
(1) L13Rs1 ) L23fRs2
3) L3 3fRs3 @) L4 3fRs4a

Options :

92090628201. 1
92090628202. 2
92090628203. 3
92090628204. 4

Question Number : 52 Question Id : 9209067135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—Il with List=II :

List—I List-II
(Source of motion restriction) (Effective agents)
(A) | Muscle weakness (I) | Contrast bath
(B) | Oedema (I1) | Electrical stimulation (motor)
(C) | Acute injury (IIl) | Thermotherapy
(D) | Soft tissue shortening (IV) | Cryotherapy

Choose the correct answer from the options given below :

T (A (B)=(1); (CH(IV): (D))

2. (A1) (BI(IN); (CIHIV); (D))
3. (A B(IV); (C)~(1); (D))
4. (AN B); (CHI); D)(IV)
Options :

92090628205. 1
92090628206. 2
92090628207. 3
92090628208. 4

Question Number : 52 Question Id : 9209067135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | %G1y gt 1 & e i

Tt | fafate 7 aen &1 ) Gl -1 (UHTESE W)
@) Ui s 1) Here 9Ny
(B) TG an  IgEN SHUH @)
© R &fa (i  yHTRd
o) We-Rg@mdsa  gv wrRd

9 fau o fawedl © 9 Tel IR &1 99F S

(1) (A)-(l1), (BY-(), (C)-(IV), (D)-(111)

(2) (A)-(1), (B)-(l1), (C)-(IV), (D)-(I1)

(3) (A)-(ln), (B)-(1V), (C)-(1), (D)-(I1)

(4)  (A)=(lIn), (B)-(1), (€)-(11), (D)-(IV)

Options :

92090628205. 1
92090628206. 2
92090628207. 3
92090628208. 4

Question Number : 53 Question Id : 9209067136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement—| : Secondary lymphedema is caused by injury to one or more
components of lymphatic system.

Statement—Il :  Primary lymphedema is more prevalent than secondary
lymphedema.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement || is false

4. Statement | is false but Statement Il is true
Options :

92090628209. 1
92090628210. 2



92090628211. 3
92090628212. 4

Question Number : 53 Question Id : 9209067136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MR sy Rume:

FUF | GHBT o P UF 1 P saadl B eifd F HR fadias ferbfea g 2|
Fu 1 Ui e fidis fordsfem @ srfte vafea 2

SURIE By & el |, 19 fau mu faeedt § @ 9t 3w &1 994 Sifee

(1)  HYF IR NSHI TI 8

() HYT A3 a8

3) @Y1 Ed g, dfh U 11 3 ©
(4) &Y AT g, Afh HY 11 I 8

Options :

92090628209. 1
92090628210. 2
92090628211. 3
92090628212. 4

Question Number : 54 Question Id : 9209067137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Interventions to manage spasticity are
A. hot packs on the affected muscle

B. PNF patterns (Proprioceptive Neuromuscular Facilitation patterns) that
emphasize rotational movements

C. ice packs on the affected muscle

D. quick stretching of affected muscle

E. mental imagery

Choose the correct answer from the options given below :

1. B and C only

2. AandB only
3. B,CandE only
4. Conly

Options :

92090628213. 1
92090628214. 2
92090628215. 3
92090628216. 4

Question Number : 54 Question Id : 9209067137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e Tl & e H uged JUER § -

uTfad wigash w gle-Ae @

TG gXddi & Hed &7 ard UIiraPd 2Rmgar e (PNF) Te|
wIfad AROE R Y- aHl

guTfaa wiauRh & oot § wfim s

E. AFR® g

= fou 7u faswsedl 7 9 998 Iugad IR &1 99 DI ;

(1) B3RC

(2) &dd A3MRB

(3) &dd B, C3RE

4) ad C
Options :
92090628213. 1
92090628214. 2

92090628215. 3
92090628216. 4

>

O N W

Question Number : 55 Question Id : 9209067138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cross over-run turning, bending and backward running are some of the
exercises specifically used to improve

1.  muscle strength

2.  muscle coordination
3. agility
4. power

Options :

92090628217. 1
92090628218. 2
92090628219. 3
92090628220. 4

Question Number : 55 Question Id : 9209067138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

o SfiaR-3 eff, RSP RSN Wamm eSS fF g
¥ guR @ & forg a2 o €1

(1)  O9ilg ared (2) Uefg gaag
3)  gRar @fafad (4 uia
Options :

92090628217. 1
92090628218. 2
92090628219. 3
92090628220. 4

Question Number : 56 Question Id : 9209067139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-ll (according to Piaget's stages of cognitive
development) :

List—I List—I|
(Stages) (Approximate age)
(A) | Preoperational (I) | Birth=2 years
(B) | Sensorimotor (y |7-12 years
(C) | Formal operational () | 2-7 years
(D) | Concrete operational (IV) | 12 years and up

Choose the correct answer from the options given below :

1. (A0 (BHIV): (CH(I1); (D)y(I)

2. (A)(I); (B)1): (CI-(IV); (D)~(Il)
3. (A1) (B)I); (C)=(llt); (D}~(1V)
4. (A-(I); (B)=(I); (C)~(1); (D)-(IV)
Options :

92090628221. 1
92090628222. 2
92090628223. 3
92090628224. 4



Question Number : 56 Question Id : 9209067139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & |1y g 11 @ e Siforg
-1 (U & daeTeTs A | (SHTFY 1Y)

fawma & fagia ot
3T
&) gd-dferarers nm STHI29Y
B) TdarTHE a 7-1279
) shoafe dfeaers ay 2-799
(D) Hel-dferareTs av) 12 a8 3 3iftle
= feu o fawredi 1 9§ 9l I &1 9uA i
(1} (A)-(1), (BY-(IV), (C)-(1), (D)-(11}
(2} (A=), (BY=(1), (C)=(IV), (D)=(11}
(3) (AY=(1), (BY=(I), (C)=(1), (D)=(1V)
(4) (AY=(11), (B)=(11), (C)=(0), (D)=(IV)
Options :

92090628221. 1
92090628222. 2
92090628223. 3
92090628224. 4

Question Number : 57 Question Id : 9209067140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The vasomotor center located in lower pons and upper
medulla provides normal vasomotor tone.

Reason (R) : Cardiac output influences blood pressure.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is truebut (R) is false

4. (A)is false but (R) is true

Options :

92090628225. 1
92090628226. 2
92090628227 3
92090628228. 4

Question Number : 57 Question Id : 9209067140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I € FuA AT MU 0P HUFHYA (Assertion A) F U H faf@d g @ g IUF SR
(Reason R}QFF'-T ﬁ;

ffirmy A m?mmﬂwﬁﬁmmmmmmm
Hdl gl

FRUIR: FifeU® HSeqe Yaadn & uHifad Har gl

ST HYA & 3fTeilsd H, 19 fau mu faeedt 7 @ gad Iugs I &1 9949 Fifore
(1) ASIRRGH T8l € 3 R A B Ul OTET §

2 A3MRREH T € dfh r, A P U REn TE €

3) AUSE AfFIrRES T
4) AURITEE AfFT R UE®

Options :

92090628225. 1
92090628226. 2
92090628227. 3




92090628228. 4

Question Number : 58 Question Id : 9209067141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following is a sign commonly found in individuals with cystic fibrosis :
1. Rapid-shallow breathing
2. Limited chest expansion
3. Productive cough
4. Thick secretions difficult to be removed

Options :

92090628229. 1
92090628230. 2
92090628231. 3
92090628232. 4

Question Number : 58 Question Id : 9209067141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiftes wreaftng & Affdl § Fuferfad daor smm=: 2ar g -

(1) e ud fofean ya= (2) HifFd gard faxaeo
(3) @i & 9y SaH 4) el FaH foraet e HféH gar @
Options :

92090628229. 1
92090628230. 2
92090628231. 3
92090628232. 4

Question Number : 59 Question Id : 9209067142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In proprioceptive neuromuscular facilitation, the technigque which involves
movement in a strong agonistic pattern against maximal resistance, followed
immediately and without relaxation by a reversal of the movement into the
antagonistic pattern, which is also resisted maximally, is known as

1. rhythmic movement
2. slow reversals

3. repeated contractions
4

rhythmic activation

Options :

92090628233. 1
92090628234. 2
92090628235. 3
92090628236. 4

Question Number : 59 Question Id : 9209067142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TifRRPe Rimegar Bifiees @ a8 aa-ite forad aogg wififEs ted § nfafafy &
o faRiy & f9e o ot € ok o et &1 fasr e qia terifafes de o
faodta feam & siftrean fadiy & fawg nfafafa &1 fosar sman €, Hgardl gl

(1)  REfie gade @ T frada
3) ddfifes sieam @) e vwdhdeEm

Options :

92090628233. 1
92090628234. 2
92090628235. 3
92090628236. 4

Question Number : 60 Question Id : 9209067143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The age group of individuals newly diagnosed as cystic fibrosis is
1. <1year
2. 5-10 years
3. 10-15years

4. 15-20 years

Options :

92090628237. 1
92090628238. 2
92090628239. 3
92090628240. 4

Question Number : 60 Question Id : 9209067143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRfes wafa & Wf e & wm -1 H g1 €

1) <199 () 5-10a4

3) 10-159% 4 15-20a4
Options :

92090628237. 1
92090628238. 2
92090628239. 3
92090628240. 4

Question Number : 61 Question Id : 9209067144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measurement of the variability around the mean within a data set is
1. range
2. variance
3. correlation coefficient
4. median

Options :
92090628241. 1



92090628242. 2
92090628243. 3
92090628244. 4

Question Number : 61 Question Id : 9209067144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grer-9e A 7reg & g St afyafddr &1 A 8|

(1) ¥ 2) WER
3) Te-HduraTd oie (4) wrfereT
Options :

92090628241. 1
92090628242. 2
92090628243. 3
92090628244. 4

Question Number : 62 Question Id : 9209067145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reflex theory of motor control was given by

1. Bernstein

2. Stephen Weisz

3.  Sir Charles Sherrington

4.  Hughling Jackson
Options :

92090628245. 1
92090628246. 2
92090628247. 3
92090628248. 4

Question Number : 62 Question Id : 9209067145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hiew Frdam &1 ufdadf frgid & g fean mar Uil

(1) A @) A faw
3) W AfTed @) efe SHad
Options :

92090628245. 1
92090628246. 2
92090628247. 3
92090628248. 4

Question Number : 63 Question Id : 9209067146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One of the following is a dependent airway clearance technigue :
1.  Breathing control phase
2.  Shaking on rib cage
3. Thoracic expansion exercise
4

Forced expiratory technique

Options :

92090628249. 1
92090628250. 2
92090628251. 3
92090628252. 4

Question Number : 63 Question Id : 9209067146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefaa 7 & ue sy yof Fem aedie @ -

(1) %9 = sEwn (2) Q&R B HUTHH B!
3)  URR fawaor somam (4) EdPpd IWAYA db-ilh
Options :

92090628249. 1
92090628250. 2
92090628251. 3



92090628252. 4

Question Number : 64 Question Id : 9209067147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—| with List-Il (Graded oscillation techniques) :

List—l List—lI
(Grades of mobilizations) (Description)
(A) | Grade | (I} |Large amplitude rhythmic

oscillation within range

(B) | Grade Il (1) | Small amplitude rhythmic
oscillation performed at the
limit of available range

(C) | Grade lll () | Small amplitude rhythmic
oscillation at beginning of
range

(D) | Grave IV (IV) | Large amplitude rhythmic

oscillations up to the limit of
available range

Choose the correct answer from the options given below :

1. (A1) (B)=(1); (C)-(IV); (D)~(lIl)
2. (AIV); (B)=(IIl); (C)=(I1); (D)~(1)
3. (A)(I); (B)=(IV); (C)~(llN); (D)-(I)
4. (A=(I); (B)=(1): (C)=IV); (D)=(Il)

Options :

92090628253. 1
92090628254. 2
92090628255. 3
92090628256. 4

Question Number : 64 Question Id : 9209067147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 & |1y g 1 1 e S
-1 (HfaergeEH -l

L) (faon
A) AS -1 Yo H sifte sman arelt Taag gieH
B) US-I ) Juds o B U U, HH SAEH el adds
NG
© US-m (Vo & URH H HH ™ dTel dgdg aren

D) US-w () Eaﬂ%wiﬁaﬁmﬁﬁ,aﬂ%&mmm

#ta feu v fawedi © € 9l 391 &1 994 i

(1) (A)-(1), (B)-(1), (C)-(IV), (D)-(1IT)
(£) (A)-(IV), (B)-(1), (C)-(n), (D)-(1)
(3) (A)-(1), (B)-(1V), (C)-(1I), (D)-(I)
(4) (A)-(H1), (B)-(1), (C)-(1V), (D)-(1)

Options :

92090628253. 1
92090628254. 2
92090628255. 3
92090628256. 4

Question Number : 65 Question Id : 9209067148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The various types of medium frequency currents are
diadynamic currents

high voltage pulsed galvanic currents

A
B
C. rebox-type current
D. TENS
E. Russian currents
Choose the correct answer from the options given below :
1. Aand C only
2. CandEonly
3. B,CandE only
4

C, D and E only



Options :

92090628257. 1
92090628258. 2
92090628259. 3
92090628260. 4

Question Number : 65 Question Id : 9209067148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafirm ueR & wew sngfti ard FRe SH USPR § --

A, SHIEEATS
B. 3 dlieeyl Wfed fea-t #ve

c. Yidfag-e5yu Hue

D. TENS

E. IRmA sve

1 feu o fasedt # 9 9 IR &1 95 S
(1) &dd A3RC

() ad C3HNE

(3) &dd B, C3RE

(4) &$4ad C, DIRE
Options :

92090628257 1
92090628258. 2
92090628259. 3
92090628260. 4

Question Number : 66 Question Id : 9209067149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List—Il :

List-I List—II
(A) | Resistance by physiotherapist (1) Resistance modality
(B) | Increasing the leverage () | Means of progression
(C) | Resistance by isokinetic () | Objective resistance
dynamometer application
(D) | Elastic band (IV) | Subjective resistance
application

Choose the correct answer from the options given below :

1. (A(I); (BI-(V); (C)-(ill); (D)}-(1)

2. (A(I); (B)-(IV); (C)~(1); (D)1l
3. (A-(V): (B)=(ll); (C)=(lll); (D)~(1)
4. (A(IV); (B)(II); (C)(1); (D)=(1l)
Options :

92090628261. 1
92090628262. 2
92090628263. 3
92090628264. 4

Question Number : 66 Question Id : 9209067149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol | S 1Y gl 0 & e i

gl It -
a)  HfdsfEas gr o YRR mefad
feam ma faty

B SuaeA@IdEHFE gy W FTHIEA
(€ SMEHIPIRACS iy I IRRET &1y

SrgaHey g fam

T fadey
(D) SIS dU8 vy  Safdaf YRRdE &1 udm
e fau T faedl § 9 Ul I &1 994 i

(1) (A)-(I), (B)-(1v), (C)-(H, (D)-(1)
(2) (A)-(I), (B)-(1v), (C)-(1), (D)-(1ir)
(3) (A)-(IV), (B)-(I0), (C)-(1), (D)-(1)
(4) (A)-(IV), (B)-(I1), (C)-(1), (D)-(1ir)

Options :

92090628261. 1
92090628262. 2
92090628263. 3
92090628264. 4

Question Number : 67 Question Id : 9209067150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A patient who has to be given cryotherapy, also needs to be checked for his
strength of the same muscle. What should be the order of assessment and
treatment is this situation?

1. Strength testing should be performed before the cryotherapy
application

2. Strength testing should be performed after the cryotherapy
application

3.  Strength testing should not be done is this situation

4.  Strength testing can be performed anytime as it is not affected by
cryotherapy

Options :
92090628265. 1
92090628266. 2



92090628267. 3
92090628268. 4

Question Number : 67 Question Id : 9209067150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U il o1 SN ygH & o € td Iudt 39 & wigief @1 ared &1 gedie Wt S
1 34 fRufd ® geaieH ud IUAR &1 B0 1 g1 =few?

(1) drd &1 Jedied sraravdt F whr 3 gd ghr =ifeul
(2) didd P Hedic- sl SR & UG F gy g drfgu
3) 3 fufa & area &1 Jeaiee et v s =rfge

4) :g%_?;r e &t o fm o1 gaar § wife gg SRt & gr1wvifad
|

Options :

92090628265. 1
92090628266. 2
92090628267. 3
92090628268. 4

Question Number : 68 Question Id : 9209067151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is abnormal EMG activity of voluntary musculature?
1. Motor unit action potential
2.  Electrical silence
3. Compound motor action potential

4. Positive sharp waves

Options :

92090628269. 1
92090628270. 2
92090628271. 3
92090628272. 4

Question Number : 68 Question Id : 9209067151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628269. 1
92090628270. 2
92090628271. 3
92090628272. 4

Question Number : 69 Question Id : 9209067152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Oesophagitis, that is commonly seen in patients with AIDS is caused due to

1. Candida infection

2.  Salmonella infection

3.  Shigella infection

4.  Protozoal infection
Options :

92090628273. 1
92090628274. 2
92090628275. 3
92090628276. 4

Question Number : 69 Question Id : 9209067152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AIDS & Al § arar=: fws amn afierany & BRU gl Bl
(1) iU WhHU (2) T Hspau]
3) fanen gewm (4) WIS e
Options :

92090628273. 1
92090628274. 2



92090628275. 3
92090628276. 4

Question Number : 70 Question Id : 9209067153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Central cyanosis indicates the following :
1. Inadequate gas exchange in the lungs
2. Intolerance to exercise
3. Lymphatic dysfunction
4. Respiratory acidosis

Options :

92090628277. 1
92090628278. 2
92090628279. 3
92090628280. 4

Question Number : 70 Question Id : 9209067153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CEAURIUE It SR o I &G i G

(1) wel H sruai Tfig fafrm (2) oW & S
3) adieed fdHR @) YRS sty
Options :

92090628277. 1
92090628278. 2
92090628279. 3
92090628280. 4

Question Number : 71 Question Id : 9209067154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Specific objectives of recovery process in sports and training
attaining maximum intensity of sports and training
delaying development of delayed onset muscle soreness
tissue repair

restoration of function

m B o B »

neuromuscular and psychological recovery

Choose the correct answer from the options given below :

1. Eonly

2. A, BandE only

3. C,DandEonly

4. B,C,DandE only

Options :

92090628281. 1
92090628282. 2
92090628283. 3
92090628284. 4

Question Number : 71 Question Id : 9209067154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A2 fau o faewed # 1 uEt SR &1 994 B
(1) &dd E

(2) Pdd A B&E

3) &dd C,D&E

(4) dd B,C,D&E

Options :

92090628281. 1
92090628282. 2
92090628283. 3
92090628284. 4

Question Number : 72 Question Id : 9209067155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List—Il about results of resisted isometric testing :

List-I List—II
(Findings) (Possible pathologies)
(A) | Strong and painless (I) | Minor lesion of tested muscle
(B) | Strong and painful (II) | Complete rupture of tested muscle
(C) | Weak and painless (Il1y | Partial rupture of tested muscle
(D) | Weak and painful (IV) | No lesion of tested muscle

Choose the correct answer from the options given below :

1. (A (B)=(Il); (C)-(IV); (D))

2. (A)F(IV); (B)=(1); (C)=(11); (D)=(1I)

3. (A B)1): (C)IV): (D)=(11)

4. (AR(); (BY(IV); (C)=(I1); (D}(11)
Options :

92090628285. 1
92090628286. 2
92090628287. 3
92090628288. 4

Question Number : 72 Question Id : 9209067155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- &g e fasedl # 9 |l 9uX @ °gH S

(1) (A)-(n), (B)-(11), (C)-(IV), (D)-(1)

(2)  (A)-(IV), (B)-(), (C)-(1I), (D)-(1l1)

(3)  (A)-(m), (B)-(1), (C)-(IV), (D)-(I1)

() (A)-(), (B)-(IV), (O)-(1I), (D)-(1l1)

Options :

92090628285. 1
92090628286. 2
92090628287. 3
92090628288. 4

Question Number : 73 Question Id : 9209067156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=Il with List=Il :

List- List-II

(A) | Systematic reviews and metanalysis (1) |Level 2

(B) | Individual RCT with narrow confidence | (ll) | Level 3
window

(C) | Case control, case series studies (1) | Level 1

(D) | Non-randomized controlled cohort study | (IV) | Level 4

Choose the correct answer from the options given below :

1. (A(Il); (B (CIIV); (D)1

2. (Al (B)(1): (C)=(); (D)-(IV)

3. (A(I); (B)-(): (C)-(1): (D)-(IV)

4. (AY(I1); (B)(III); (C)-(IV); (D))
Options :

92090628289. 1
92090628290. 2
92090628291. 3
92090628292. 4

Question Number : 73 Question Id : 9209067156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(I), (B)-(1), (©)-(V), (D)-(1)
(£) (A)-(In), (B)-(1), (C)-(11), (D)-(IV)
(3) (AY-(I1), (B)-(1), (C)-(1), (D)-(IV})
(4) (A)-(I), (B)-(1, (C)-(IV), (D)-(1)

Options :

92090628289. 1
92090628290. 2
92090628291. 3
92090628292. 4

Question Number : 74 Question Id : 9209067157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Amlodipine is alan

1. o blocker

2. P blocker

3. calcium channel blocker

4. diuretic

Options :

92090628293. 1
92090628294. 2
92090628295. 3
92090628296. 4

Question Number : 74 Question Id : 9209067157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TEiftHes B

(1) oSl (2) p-sdlpR

(3)  pleRmm Id sl (4) SHRfeH
Options :

92090628293. 1
92090628294. 2
92090628295. 3
92090628296. 4

Question Number : 75 Question Id : 9209067158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Tibiofemoral posterior glide is given to increase flexion of the
knee joint.
Reason(R) : As the convex articular surface of tibia is glided. antero-

posteriorly over the concave articular surface of femur, the
increase in posterior glide helps to increase flexion.

In the light of the above statements, choose the correct answer from the
options given below :

—

Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)istruebut (R) is false

4. (A)is false but (R) is true

Options :

92090628297. 1
92090628298. 2
92090628299. 3
92090628300. 4

Question Number : 75 Question Id : 9209067158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628297. 1
92090628298. 2
92090628299. 3
92090628300. 4

Question Number : 76 Question Id : 9209067159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following genus of mosquito act as vector of ‘bancroftian filariasis’
in India?

1. Culex

2. Anopheles

3. Aedes

4. Mansonoides

Options :

92090628301. 1
92090628302. 2
92090628303. 3
92090628304. 4

Question Number : 76 Question Id : 9209067159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628301. 1
92090628302. 2
92090628303. 3
92090628304. 4

Question Number : 77 Question Id : 9209067160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The throwing motion can be divided into the following phases:
Cocking
Wind up
Follow through

Acceleration

mo o »

Deceleration

Choose the correct answer from the options given below :
1. A,B,C,D,E

2. A,D,EB,GC

3. B,ADEC

4 D.E,B.A,C

Options :

92090628305. 1
92090628306. 2
92090628307. 3
92090628308. 4

Question Number : 77 Question Id : 9209067160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) ABCDE
(2) A:DEBLC
(3} BADEL
4 DEBAC

Options :

92090628305. 1
92090628306. 2
92090628307. 3
92090628308. 4

Question Number : 78 Question Id : 9209067161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“The patient’s right to choose for one’s life and to voice that choice for as long
as possible” comes under the following ethical principle :

1.  Justice
2. Beneficence
3. Nonmaleficence

4. Autonomy

Options :

92090628309. 1
92090628310. 2
92090628311. 3
92090628312. 4

Question Number : 78 Question Id : 9209067161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

92090628309. 1
92090628310. 2
92090628311. 3
92090628312. 4

Question Number : 79 Question Id : 9209067162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—I| with List-Il :

List- List-I

(A) | Nocturnal pain in shoulder (I) | Labral disorders
pathology

(B) | Stiffness aggravated by activity | (Il) | Impingement syndrome

(C) | Clunk sound with overhead (II1) | Cervical spine disorder
activity

(D) | Pain radiating along the arm (IV) | Osteoarthritis of shoulder

Choose the correct answer from the options given below :

1. (A(V): B)(I): (C)1): (D)=(Il1)

2. (A(I); (B)-(IV): (C)~(1): (D)=l

3. (A (B)-(IV); (C)~(); (D)~(1)

4. (AH(IVY; (BY(ID); (CH(11); (DD
Options :

92090628313. 1
92090628314. 2
92090628315. 3
92090628316. 4



Question Number : 79 Question Id : 9209067162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1) (A)-(IV), (B)-(I1), (C)-(1), (D)-(1IIy
2) (A)-(11), (B)-(1V), (C)-(1), (D)-(1lry
(
(

— —

3) (A)-(11), (B)-(1V), (C)-(11n), (D)-(1)
4) (A)-(IV), (B)-(I1), (C)-(1Hn), (D)-(1)

—

Options :

92090628313. 1
92090628314. 2
92090628315. 3
92090628316. 4

Question Number : 80 Question Id : 9209067163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence for application of LASER is :
A.  Apply the applicator on skin and start output.
B. Expose area to be treated.
C. Check patient's chart for contraindications.
D. Select appropriate energy.
E. Select an appropriate diode.
Choose the correct answer from the options given below :
1. BAE.E. D
2. B.ACDE
3. C.EDBA
4. E,C,B,A,D

Options :

92090628317. 1
92090628318. 2
92090628319. 3
92090628320. 4

Question Number : 80 Question Id : 9209067163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628317. 1
92090628318. 2
92090628319. 3
92090628320. 4

Question Number : 81 Question Id : 9209067164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of vitamin D synthesis using sunlight is :
A. T7-dehydrocholestrol
B. 1-a, 25-dihydroxycholecalciferol (calcitriol)
C. Cholecalciferol (D)
D. 25-hydroxy-cholecalciferol
E. Cholesterol

Choose the correct answer from the options given below :

1. E,C,ABD

2. C,ADBE

3. ACEBD

4. E/AGCDB
Options :

92090628321. 1
92090628322. 2
92090628323. 3
92090628324. 4

Question Number : 81 Question Id : 9209067164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(3) A=C-=
4 E-A
Options :
92090628321. 1
92090628322. 2

92090628323. 3
92090628324. 4

Question Number : 82 Question Id : 9209067165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not help in static stabilization of the glenohumeral
joint in dependent arm?

1. Muscle activity of deltoid, supraspinatus

2 Passive tension of the rotator interval capsule

3.  Negative intra-articular pressure due to airtight capsule
4

Slight upward tilt of glenoid fossa

Options :

92090628325. 1
92090628326. 2
92090628327. 3
92090628328. 4

Question Number : 82 Question Id : 9209067165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

92090628325. 1
92090628326. 2
92090628327. 3
92090628328. 4

Question Number : 83 Question Id : 9209067166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : A strong and painful contraction of the skeletal muscle
during resisted isometric testing denotes a minor lesion of
tested muscle or tendon.

Reason (R) : During eccentric loading of the muscle, the muscle gets
lengthened during contraction.

In the light of the above statements, choose the correct answer from the
options given below :

—

Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is truebut (R) is false

4. (A)is false but (R) is true

Options :

92090628329. 1
92090628330. 2
92090628331. 3
92090628332. 4

Question Number : 83 Question Id : 9209067166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

92090628329. 1
92090628330. 2
92090628331. 3
92090628332. 4

Question Number : 84 Question Id : 9209067167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Stepwise aerobic conditioning program for the patient with coronary artery
disease:

A. Prepare patient and family for continued rehabilitation at home
B. Strength training at 30%—40% of maximum heart rate

C. Initiation of self-care activities

D. Providing an orthostatic challenge to the cardiovascular system
E. Cycling at approximately 12 miles per hour speed

Choose the correct answer from the options given below :

1. C,D,A B,E

2. C,AD,EB

3. CBDAE

4. A,C,D,EB
Options :

92090628333. 1
92090628334. 2
92090628335. 3
92090628336. 4

Question Number : 84 Question Id : 9209067167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) C DARBE
2) CADEB
3) CBDAE

4 ACDEB

Options :

92090628333. 1
92090628334. 2
92090628335. 3
92090628336. 4

Question Number : 85 Question Id : 9209067168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Heating and cooling agents are generally composed of
materials with moderate thermal conductivity to provide safe
and effective heat transfer.

Reason (R) : Rate of heat transfer depends on temperature difference
between the materials.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is truebut (R) is false

4. (A)is false but (R) is true
Options :



92090628337. 1
92090628338. 2
92090628339. 3
92090628340. 4

Question Number : 85 Question Id : 9209067168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628337. 1
92090628338. 2
92090628339. 3
92090628340. 4

Question Number : 86 Question Id : 9209067169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of moving a person to the side, as a consequence of that, person's
refusal to accept, or impossibility of accepting currently recognized rules of
operation is called as

1. normalization
2. marginalization
3. inclusion

4.  discrimination

Options :



92090628341. 1
92090628342. 2
92090628343. 3
92090628344. 4

Question Number : 86 Question Id : 9209067169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628341. 1
92090628342. 2
92090628343. 3
92090628344. 4

Question Number : 87 Question Id : 9209067170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Keeping distal radius and ulna stabilized in wrist joint mobilization, the ulnar
glide is given to increase

1. radial deviation

2 ulnar deviation

3. generalized arthrokinematics movement of wrist joint
4

joint play

Options :

92090628345. 1
92090628346. 2
92090628347. 3
92090628348. 4

Question Number : 87 Question Id : 9209067170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628345. 1
92090628346. 2
92090628347. 3
92090628348. 4

Question Number : 88 Question Id : 9209067171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Pranayama’, in which after doing ‘Kumbhaka’, the breath is exhaled through
the left nostril (path of 'lda Nadi') is called as

—h

Ujjayi Pranayama

2.  Viloma Pranayama

3. Surya Bhedana Pranayama
4

MNadiShodhana Pranayama

Options :

92090628349. 1
92090628350. 2
92090628351. 3
92090628352. 4

Question Number : 88 Question Id : 9209067171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628349. 1
92090628350. 2
92090628351. 3
92090628352. 4

Question Number : 89 Question Id : 9209067172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The elementary component which is not part of informed consent is
1. compassion
2. information
3. competence
4

voluntariness

Options :

92090628353. 1
92090628354. 2
92090628355. 3
92090628356. 4

Question Number : 89 Question Id : 9209067172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628353. 1
92090628354. 2
92090628355. 3
92090628356. 4

Question Number : 90 Question Id : 9209067173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Prescription of adaptive equipment is a component of

1. compensatory training approach

2. facilitatory training approach
3. remedial training approach
4. financial assistance

Options :

92090628357. 1
92090628358. 2
92090628359. 3
92090628360. 4

Question Number : 90 Question Id : 9209067173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHH O JUBRV T YA T 3(a94 B |

(1) Su-aed ufdieor 3unm ) Wieiteed ufem Jurm
3) Yufsga ufnemor Jurm (4) faeig geraan
Options :

92090628357. 1
92090628358. 2
92090628359. 3
92090628360. 4

Question Number : 91 Question Id : 9209067174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Persons suffering from which type of disability are not eligible for reservation of
job?

1. Mental disability
2. Speech and hearing disability
3.  Visual disability
4. Cardiopulmonary disability
Options :
92090628361. 1
92090628362. 2

92090628363. 3
92090628364. 4

Question Number : 91 Question Id : 9209067174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628361. 1
92090628362. 2
92090628363. 3
92090628364. 4

Question Number : 92 Question Id : 9209067175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct order of giving resisted exercises is :
A. Demonstration of pattern of movement
Traction

Application of resisted force

Comfort and stability of the body

mo o

Stabilization of the bone or bones consisting the origin of the muscle
targeted

Choose the correct answer from the options given below :

1. DA EB,C

2 BCDAE

3. GCBADE

4. D,ABEC
Options :

92090628365. 1
92090628366. 2
92090628367 3
92090628368. 4

Question Number : 92 Question Id : 9209067175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628365. 1
92090628366. 2
92090628367. 3
92090628368. 4

Question Number : 93 Question Id : 9209067176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Patients suffering from ‘phobias’ can be best treated by which of the following
management technique :

1. Desensilizalion

2 Guided imagery

3. Cognitive behaviour therapy
4

Relaxation response

Options :

92090628369. 1
92090628370. 2
92090628371. 3
92090628372. 4

Question Number : 93 Question Id : 9209067176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

92090628369. 1
92090628370. 2
92090628371. 3
92090628372. 4

Question Number : 94 Question Id : 9209067177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are the measures of self-perceived health?
Barthel Index
Nottingham Health Profile
Medical outcome study —36 item short form health survey (SF-36)

Functional Independence Measure (FIM)

m o 0o m »

Sickness Impact Profile (SIP)

Choose the correct answer from the options given below :
1. Conly

2. AandD only

3. Donly

4. B, CandE only

Options :

92090628373. 1
92090628374. 2
92090628375. 3
92090628376. 4

Question Number : 94 Question Id : 9209067177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Frafefad & 3 @1 g & Wy 99 82

a1d gUSH

e g WBrse

fefcaeta uRom e - 36 Sigen T B TWred T (SF-36)
e fow giiee tiera

1 fau U faeedl #f & el Juged IR &1 9 P :

(1)  &ad C
2) %ad AMRD
(3) &dd D
(4) %dd B, C 3RE

>

o N m

et e

Options :

92090628373. 1
92090628374. 2
92090628375. 3
92090628376. 4

Question Number : 95 Question Id : 9209067178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All are the types of fibrous joint, except
1. synchondrosis
2. syndesmosis
3. synostosis
4.  symphysis

Options :

92090628377. 1
92090628378. 2
92090628379. 3
92090628380. 4



Question Number : 95 Question Id : 9209067178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628377. 1
92090628378. 2
92090628379. 3
92090628380. 4

Question Number : 96 Question Id : 9209067179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Priming stage’, ‘splitting stage’ and ‘oxidoreduction-phosphorylation stage’ are
three major stages of

1. gluconeogenesis
2. glycolysis
3. glycogenolysis

4. glycogenesis

Options :

92090628381. 1
92090628382. 2
92090628383. 3
92090628384. 4

Question Number : 96 Question Id : 9209067179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628381. 1
92090628382. 2
92090628383. 3
92090628384. 4

Question Number : 97 Question Id : 9209067180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With anterior rotation of the right innominate, the sacrum is most likely to
undergo around an oblique axis.

1. Nutation

2. Torsion

3. Counternutation
4.

Side bending

Options :

92090628385. 1
92090628386. 2
92090628387. 3
92090628388. 4

Question Number : 97 Question Id : 9209067180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628385. 1
92090628386. 2
92090628387. 3
92090628388. 4

Question Number : 98 Question Id : 9209067181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In sports injuries, typically results in the rapid onset of short lived
impairment of neurological function that resolves spontaneously.

1. punch drunk syndrome

2. post traumatic amnesia

3. concussion

4.  subluxation of cervical vertebra

Options :

92090628389. 1
92090628390. 2
92090628391. 3
92090628392. 4

Question Number : 98 Question Id : 9209067181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628389. 1
92090628390. 2
92090628391. 3
92090628392. 4

Question Number : 99 Question Id : 9209067182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Intermittent pneumatic pump is utilized for the treatment of

1.  swelling

2. neuropathic pain
3. burns

4. ulcers

Options :

92090628393. 1
92090628394. 2
92090628395. 3
92090628396. 4

Question Number : 99 Question Id : 9209067182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628393. 1
92090628394. 2
92090628395. 3
92090628396. 4

Question Number : 100 Question Id : 9209067183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An affective response that stems from the comprehension of another person's
emotional state and which is similar to what the other person is feeling is called
as :

1. Empathy

2. Sympathy

3. Personal distress

4. Emotional self-regulation



Options :

92090628397. 1
92090628398. 2
92090628399. 3
92090628400. 4

Question Number : 100 Question Id : 9209067183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090628397. 1
92090628398. 2
92090628399. 3
92090628400. 4



